1529. Haiigure

1530. Haiigure

1531. Haitgure

1532. Haitgure

1533. Haiiaure

1534. Haitnure

1535. Haitnure

1536. Haitgure

1537. Haitnure

1538. Haitnure

1539. Haitnure

1540. Haitgure

1541. Haiigure

1542, Hatigure

1543. Haiinure

1544. Haiigure

1545. Haiigure
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3HaA4YeHue

3Ha4YE€HHue

3HaAYeHHue

3Ha4YeHue

3Ha4YeHue

3Ha4YeHue

3HaA4YEeHUe

3HaYeHue

3HaYeHHue

3HAYEeHHUe

3HaA4YeHUe

3HaAYeHHue

3HaAYeHHue

3HA4YeHUue

3Ha4YeHHue

3HaYeHHue

3Ha4YeHHue

BBIDAXKE€HUA

BbIPaYKEHUSA

BbIDAXKEHNA

BbIpaXXeHUusd

BBIDAXKEeHU A

BBIDQYKEHUSA

BbIDaXEeHUA

BEIDAXKEeHUA

BBIDAYKEHHUSA

BBIPDAYKEHUA

BBIpa»KeHUusd

BbIPpaXe€HUA

BBIPQ)KEHUSA

BBIPaXKEHU A

BEIPAXKEHUA

BbIDpaXKe€HHUA

BBIDAKEeHHUS

—— TpU X =5.
-8 -5
x°-x _
——~— upu x =4.
-6
X -x _
o opu x =2.
-14 10
x " -x
—— npu x =6.
14
x"-x _
o npu x=17.
18 9
X zﬁx opu x =3.
x
-2 9
X
X X npu x=3.
x
11 0
X X npu x=2.
x
13 5
x’-x _
— npu x =7.
x'-x
;— npu x =6,
7 6
x -x _
—— npu x =8.
-20 9
x" -x _
—— Ipu x =4.
-6 0
X -x _
—~— npu x = 2.
-5 -5
x-x _
~7— npu x =6.
-12 -6
x " -x _
s Tpu x =8.
4 -1
X
X upu x =2.
-10 0
X -x _
~— 1pu x =6.



1546. Haitinnre sHaueHUe

1547. Haitnure 3HaueHue

1548. Haitnure 3HaueHue

1549. Haitgure 3HaueHue

1550. Haiinure 3HaueHue

1551. Haitgure 3HaueHue

1552. Haiigure 3HayeHue

1553. Haiigure 3naueHue

1554. HaiiguTe 3HaueHHE

1555. HaiinuTre 3Hauenue

1556. Haiigure 3HaueHue

1557. Haiinure 3HaueHUe

1558. Haitnure sHaueHue

1559. Haitgnte 3HaueHUe

1560. HaiinuTre 3Hauenune

1561. Haiigure 3HaueHue

1562. HaiiguTe 3HaUueHUe

BRIpa’KeHUA
BBIpa’KeHU A
BBIpa’KeHU A
BREIpasKeHUs
BBIpaKeHUS
BBIPAYKEHUSA
BBIPAYKEHUS
BBIPAYKEHUSI
BBIPasKEeHU
BBIPa’KeHUS
BRIpasKeHNS
BBIpa’KeHUs
BHIPAKEHUHA
BBIPa’sKeHN A
BbIpasKeHNs

BBIpaXXKeHUsA

BBIPAYKEHUA

—— Inpu x =6.
15 -2
x .
5 npu x =4,
x
0
x
—— npu x =8.
S5 -8
X 'Zf npu x =6.
x
-19 5
x .
—— npu x = 4.
x
3 5
x’ -x _
= npu x =3.
3 -7
x° -x
~— Tpu x =8.
~-14 5
x ' .x _
—— npu x =7.
12 5
x“-x _
= npu x =7.
-3 -7
x* . x _
~;— npu x =8.
6 9
x’ - x _
S— npu x =17.
19 -2
x -x _
—— mpu x =7.
-4 8
x-x
5 npu x =9,
14 -9
x"'-x
—— Ipu x =5.
x
-13 -1
x " -x
— npu x =6.
x
-6 8
X Ox npu x =2,
x
6 cos 207°
cos 27°
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